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Question1:-Consider the following events of second world war;
i.  Yalta Conference
ii.  Teheran Meeting
iii. Casablanca  Conference
iv. Dumbarton Oaks Conference
Select the correct chronological order of events from the codes given below :
ര�ാം േലാകമഹാ���ിെൻറ ഇനി�റ�� സംഭവ�ൾ പരിഗണി�ക :
i.   യാൽ�ാ സേ�ളനം
ii.  െടഹ്റാൻ േയാഗം
iii. കാസ�ാ� സേ�ളനം
iv. ഡംബാർ�ൺ ഓ�് സേ�ളനം
താെഴ ത�ിരി�� േകാ�ക�പേയാഗി�് ശരിയായ കാല�മം  െതരെ���ക :

        A:-iii, ii, iv, i
iii, ii, iv, i

        B:-ii, iv, iii, i
ii, iv, iii, i

        C:-iv, iii, i, ii
iv, iii, i, ii

        D:-i, iv, iii, ii
i, iv, iii, ii

        Correct Answer:- Option-A

Question2:-With reference to the reign of Marthanda Varma, consider the following
statements;
i.   Marthanda Varma is considered as the founder of Modern Travancore
ii.  The famous Thrissur Pooram was instituted during his reign
iii.  One of the important acts of Marthanda Varma was Thripadidanam
Which of the above statements is/are correct?
മാർ�ാ�വർ��െട ഭരണകാലെ� പരിഗണി�െകാ�്, താെഴ�റ�� ��ാവനകൾ പരിഗണി�ക ;
i.   ആ�നിക തി�വിതാം�റിെൻറ �ാപകനായി മാർ�ാ�വർ�െയ       
     കണ�ാ��
ii.  അേ�ഹ�ിെൻറ ഭരണകാല�ാണ് ��ർ�രം ആരംഭി�ത്
iii.  മാർ�ാ�വർ��െട �ധാന കർ��ളിെലാ�ാണ് ��ടിദാനം
�കളിൽ പറ� ��ാവനകളിൽ ഏതാണ് ശരി?



        A:-i & ii only
i & ii മാ�ം

        B:-ii & iii only
ii & iii  മാ�ം

        C:-i & iii only
i & iii മാ�ം

        D:-i, ii & iii
i, ii & iii

        Correct Answer:- Option-C

Question3:-Consider the following statements about the Lahore Session of the
Indian National Congress;
i.  Jawaharlal Nehru was elected as the President of the Indian National Congress
ii. This congress decided to celebrate 26 January as ''Independence Day'' all over
the country
iii. Gandhiji decided to launch the Non-Co-operation Movement
Choose the incorrect option :
ഇ��ൻ നാഷണൽ േകാൺ��ിെൻറ ലാേഹാർ സേ�ളനെ��റി�� ��ാവനകൾ പരിഗണി�ക;
i.   ജവഹർലാൽ െനഹ്� ഇ��ൻ നാഷണഷൽ  േകാൺ��ിെൻറ �സിഡ�ായി
     െതരെ���െ��
ii.  ജ�വരി 26 രാജ��ടനീളം സ�ാത��ദിനമായി ആേഘാഷി�ാൻ ഈ േകാൺ��്
     തീ�മാനി�
iii.  ഗാ�ിജി നി�ഹകരണ ��ാനം ആരംഭി�ാൻ തീ�മാനി�
െത�ായ ��ാവന െതരെ���ക :

        A:-i & ii only
i & ii മാ�ം

        B:-iii only
iii മാ�ം

        C:-i & iii only
i & iii മാ�ം

        D:-i, ii & iii
i, ii & iii

        Correct Answer:- Option-B

Question4:-Which of the following statement is/are correct about the revolt of
1857?
(i)   According to V.D. Savarkar, revolt of 1857 was the ''First War of India's
Independence''.
(ii)  Bahadur Shah II was the Mughal emperor during the revolt of 1857
(iii) Doctrine of Lapse was one among the causes of the revolt
(iv) Lord Cornwallis was the Governor General during the revolt
1857-െല കലാപെ��റി�് താെഴ�റ��വയിൽ ഏതാണ് ശരി?
(i)   വി.ഡി. സവർ�ർ  അഭി�ായ�ിൽ 1857 െല കലാപം ''ഇ���െട ഒ�ാം
       സ�ാത��സമരം''  ആയി��
(ii)   1857 കലാപകാല�് �ഗൾ ച�വർ�ിയായി�� ബഹ�ർഷാ
       ര�ാമൻ
(iii)   കലാപ�ിെൻറ കാരണ�ളിെലാ�ാണ് േഡാ�ിൻ ഓഫ് ലാ�്



(iv)   കലാപകാല�് േകാൺവാലിസ് �� ഗവർ�ർ ജനറലായി��

        A:-Only (i) and (iv)
(i), (iv) മാ�ം

        B:-(i), (ii) and (iii)
(i), (ii), (iii)

        C:-Only (iv)
(iv) മാ�ം

        D:-Only (ii) and (iv)
(ii), (iv) മാ�ം

        Correct Answer:- Option-B

Question5:-Expand NATO
NATO �െട �ർ��പം

        A:-North Atlantic Territories Organization
േനാർ�് അ�്ലാ�ിക് െടറി�റീസ് ഓർഗൈനേസഷൻ

        B:-North Asian Treaty Organization
േനാർ�് ഏഷ�ൻ �ീ�ി ഓർഗൈനേസഷൻ

        C:-Non-Alliance Treaty Organization
േനാൺ-അലയൻസ് �ീ�ി ഓർഗൈനേസഷൻ

        D:-North Atlantic Treaty Organization
േനാർ�് അ�്ലാ�ിക് �ീ�ി ഓർഗൈനേസഷൻ

        Correct Answer:- Option-D

Question6:-Which of the following statement is/are correct about European
contributions in Kerala?
(i)   Portuguese established printing press in Kerala
(ii)  British were the first Europeans to land in Kerala
(iii) First authentic book in Malayalam Grammar was prepared by Hermann Gundert.
(iv) Malabar Manual was published by VanRheede
േകരള�ിെല �േറാപ�ൻ സംഭാവനകെള�റി�് താെഴ�റ��വയിൽ ഏതാണ് ശരിയായത്?
(i)    േകരള�ിൽ േപാർ�ഗീസ് അ�ടിശാല �ാപി�
(ii)   േകരള�ിൽ വ�ിറ�ിയ ആദ�െ� �േറാപ��ാരാണ് �ി�ീ�കാർ
(iii)  മലയാള വ�ാകരണ�ിെല ആദ�െ� ആധികാരിക ��ം  ത�ാറാ�ിയത്   
       െഹർ�ൻ ��ർ�ാണ്
(iv)  മലബാർ മാന�ൽ �സി�ീകരി�ത് വാൻറീഡ് ആണ്

        A:-Only (i) and (iv)
(i), (iv) മാ�ം

        B:-Only (ii) and (iv)
(ii), (iv) മാ�ം

        C:-Only (i) and (iii)
(i), (iii) മാ�ം

        D:-Only (ii) and (iii)
(ii), (iii) മാ�ം

        Correct Answer:- Option-C



Question7:-Consider the following statements :
1.  Tropical cyclones always move from East to West
2.  If they cross 20° Latitude they recurve and are more destructive
3.  Tropical cyclones originate over warm tropical oceans
Which of the statements given above is/are correct?
താെഴ�റ�� ��ാവനകൾ പരിഗണി�ക :
1.  ഉ�േമഖലാ �ഴലി�ാ�കൾ എേ�ാ�ം കിഴ� നി�് പടി�ാേറാ�് നീ��
2.  അവ 20° അ�ാംശം കട�ാൽ അവ വീ�ം വള�ക�ം  ��തൽ
     വിനാശകരമാ�ക�ം െച�ം
3.  ഉ�േമഖലാ �ഴലി�ാ�കൾ ഉ�വി��ത് ��� ഉ�േമഖലാ
     സ���ളിൽ  നി�ാണ്
�കളിൽ ന�ിയിരി�� ��ാവനകളിൽ ഏതാണ് ശരി?

        A:-1 only
1 മാ�ം

        B:-3 only
3 മാ�ം

        C:-1 and 3 only
1, 3 മാ�ം

        D:-1, 2 and 3
1, 2, 3

        Correct Answer:- Option-D

Question8:-Which one of the following is the antecedent tributary of River
Brahmaputra?
����ാ നദി�െട �ൻ േപാഷകനദി ഏതാണ്?

        A:-Dhansari
ധൻസാരി

        B:-Subansiri
�ബൻസിരി

        C:-Manas
മനാസ്

        D:-Tista
ടി�

        Correct Answer:- Option-B

Question9:-Which Indian city has become the first city in the country to get a
processed steel slag (Industrial Waste) road?
സം�രി� �ീൽ �ാഗ്  (ഇൻഡ�ിയൽ േവ�്) േറാഡ് ലഭി�� രാജ�െ� ആദ� നഗരമായി മാറിയ ഇ��ൻ
നഗരം ഏതാണ്?

        A:-Delhi
ഡൽഹി

        B:-Ahmedabad
അഹ�ദാബാദ്

        C:-Surat
�റ�്



        D:-Chennai
െചൈ�

        Correct Answer:- Option-C

Question10:-Which of the following characteristics is correct about Troposphere?
(i)   It is the densest atmospheric layer
(ii)  The zone separating the troposphere from stratosphere is known as stratopause
(iii)  This is the most important layer for all biological activity
(iv)  This layer absorbs ultra-violet radiations and shields life on the earth from
intense,
       harmful form of energy?
േ�ാേ�ാ�ിയറിന് താെഴ�റ�� സ�ഭാവസവിേശഷതകളിൽ ഏതാണ് ശരി?
(i)   ഏ��ം സാ�മായ അ�രീ�പാളിയാണ്
(ii)  േ�ാേപാ�ിയറിെന �ാേ�ാ�ിയറിൽ നി�് േവർതിരി�� േമഖല
      �ാേ�ാേ�ാസ് എ�റിയെ���
(iii)  എ�ാ ൈജവ�വർ�ന�ി�ം  ഏ��ം �ധാനെ�� പാളിയാണിത്
(iv)  ഈ പാളി അൾ�ാവയല�് വികിരണ�െള ആഗിരണം െച�ക�ം �മിയിെല
       ജീവെന തീ�തയിൽ നി�ം സംര�ി�ക�ം െച��

        A:-Only (i) & (iii)
(i) & (iii) മാ�ം

        B:-Only (ii) & (iv)
(ii), (iv) മാ�ം

        C:-Only (iii) & (iv)
(iii), (iv) മാ�ം

        D:-All of the above ((i), (ii), (iii) & (iv))
േമൽ�റ�െയ�ാം ((i), (ii), (iii), (iv))

        Correct Answer:- Option-A

Question11:-Consider the following statements :
Statement A :  Western coastal plains are an example of submerged coastal plain
Statement B :  Western coastal plains provide natural conditions for development of
ports
                      and harbours
Select the correct answer :
താെഴ�റ�� ��ാവനകൾ പരിഗണി�ക :
��ാവന A :  ��ി�ിട�� തീര�േദശ�ിന് ഉദാഹരണമാണ് പടി�ാറൻ
                          തീരസമതല�ൾ
��ാവന B :  പടി�ാറൻ തീരസമതല�ൾ �റ�ഖ��െട വികസന�ിന്
                          സ�ാഭാവികസാഹചര��ൾ നൽ��
ശരിയായ ഉ�രം െതെരെ���ക :

        A:-Statement A is correct, B is incorrect
��ാവന A ശരിയാണ്, B െത�ാണ്

        B:-Statement B is correct, A is incorrect
��ാവന B ശരിയാണ്, A െത�ാണ്

        C:-Both statements are incorrect
ര� ��ാവനക�ം െത�ാണ്

        D:-Both statements are correct and Statement B explains  Statement A



ര� ��ാവനക�ം ശരി�ം ��ാവന B ��ാവന A വിശദീകരി��

        Correct Answer:- Option-D

Question12:-Which of the following was declared as Wildlife sanctuary on July 3,
2020?
താെഴ ത�വയിൽ ഏതാണ് 2020, �ലായ് 3 ന് വന�ജീവി സേ�തമായി
�ഖ�ാപി�ത്?

        A:-Kurinjimala Sanctuary
���ിമല സേ�തം

        B:-Malabar Wildlife Sanctuary
മലബാർ വന�ജീവി സേ�തം

        C:-Karimpuzha Wildlife Sanctuary
കരിം�ഴ വന�ജീവി സേ�തം

        D:-Kottiyoor Wildlife Sanctuary
െകാ�ി�ർ വന�ജീവി സേ�തം

        Correct Answer:- Option-C

Question13:-How GST makes exports more competitive?
ജിഎ�ി എ�െനയാണ് കയ�മതിെയ ��തൽ  മ�രാധി�ിതമാ��ത്?

        A:-By exempting exports from GST
കയ�മതിെയ ജിഎ�ി യിൽ നി�ം ഒഴിവാ�ിെ�ാ�്

        B:-By imposing lower rate  of GST on exports
കയ�മതിയിൽ �റ� ജിഎ�ി �മ��തി�െട

        C:-By imposing zero rate of GST on exports
കയ�മതിയിൽ �ജ�ം ജിഎ�ി �മ��തി�െട

        D:-By applying GST on the basis of value of exports
കയ�മതി �ല��ിെൻറ അടി�ാന�ിൽ ജിഎ�ി

        Correct Answer:- Option-C

Question14:-Identify the wrong statement/statements :
െത�ായ ��ാവന/��ാവനകൾ തിരി�റി�ക :

        A:-SATH-E is an educational project
SATH-E ഒ� വിദ�ാഭ�ാസ പ�തിയാണ്

        B:-RBI had ownership of shares in commercial bank/banks prior to 2007
2007 -ന് ��് വാണിജ� ബാ�ിെല/ബാ�കളിെല ഓഹരിക�െട ഉടമ�ാവകാശം  ആർബിഐ��ായി��

        C:-GST is a solution for cascading effect
കാേ�ഡിംഗ് ഇഫ�ിന് ജഎ�ി ഒ� പരിഹാരമാണ്

        D:-Being a constitutionally mandated body, the recommendations of Finance
Commissions are binding on central government
ഭരണഘടനാപരമായി നിർബ�ിത  �ാപനമായതിനാൽ, ധനകാര� ക�ീഷെൻറ �പാർശകൾ
േക�സർ�ാറിന് ബാധ�ത��്

        Correct Answer:- Option-D

Question15:-Which of the following is/are rightly paired?
(i)   Vth Five Year Plan - Removal of Poverty and Self Reliance
(ii)  XIth Five year Plan - Inclusive Growth



(iii) XIIth Five Year Plan - Faster, Sustainable and More Inclusive Growth
താെഴ പറ��വയിൽ ഏതാണ് ശരിയായ േജാഡികൾ?
(i)   5-ാം പ�വ�ര പ�തി    -   ദാരി���ം സ�ാ�യ�ം ഇ�ാതാ�ക
(ii)  11-ാം പ�വ�ര പ�തി  -   ഉൾെ�ാ�� വളർ�
(iii)  12-ാം പ�വ�ര പ�തി -   േവഗേമറിയ�ം ��ിര�ം ��തൽ
                                                    ഉൾെ�ാ���മായ വളർ�

        A:-Only (i) & (ii)
(i), (ii) മാ�ം

        B:-Only (ii) and (iii)
(ii), (iii) മാ�ം

        C:-Only (iii)
(iii) മാ�ം

        D:-All of these
ഇവെയ�ാം

        Correct Answer:- Option-D

Question16:-Find out the incorrect observation regarding the SDG Index 20-21 :
SDG �ചിക 20-21 സംബ�ി� െത�ായ നിരീ�ണം കെ��ക :

        A:-The composite score of Indian Economy has improved from 60 to 66
ഇ��ൻ സ�ദ് വ�വ��െട േകാേ�ാസി�് േ�ാർ 60 ൽ നി�് 66 ആയി

        B:-Kerala, Himachal Pradesh and Tamil Nadu have scored above national score
േകരള�ം ഹിമാചൽ �േദ�ം തമി�ാ�ം േദശീയ േ�ാറി��കളിൽ േ�ാ� െച�

        C:-UT of Ladakh failed to attain the national score
ലഡാ�ിെല ��ി േദശീയ േ�ാർ േന��തിൽ പരാജയെ��

        D:-Bihar and Jharkhand lag behind the national score
ബിഹാ�ം ഝാർഖ�ം േദശീയ േ�ാറിേന�ാൾ പി�ിലാണ്

        Correct Answer:- Option-C

Question17:-Bandhan Bank is a
ബ�ൻ ബാ�് ഒ�

        A:-New Private Sector Bank
�തിയ സ�കാര�േമഖലാ ബാ�്

        B:-Non-Banking Financial Institution
േനാൺ-ബാ�ി�് ഫിനാൻഷ�ൽ �ാപനം

        C:-Payment Bank
േപെ��് ബാ�്

        D:-Small Finance Bank
േ�ാൾ ഫിനാൻസ് ബാ�്

        Correct Answer:- Option-A

Question18:-The SDF operationalized by RBI on 8th April 2022 :
SDF 2022 ഏ�ിൽ 8 ന് ആർബിഐ �വർ�ന�മമാ�ി

        A:-Introduced a new window of central bank lending



െസൻ�ൽ ബാ�്  വാ��െട �തിയ വിൻേഡാ അവതരി�ി�

        B:-Replaced the Fixed Reverse Repo Rate as the floor of LAF
ഫി�ഡ് റിേവ�് റിേ�ാ നിര�് LAF െൻറ നിലയായി മാ�ി

        C:-Contributes to a fund created for Sustainable development
��ിര വികസന�ിനായി ��ി� ഒ� ഫ�ിേല�്  സംഭാവന െച��

        D:-Proposed increase in repo rate by 10 basis points in the next quarter to
check inflation
പണെ���ം തടയാൻ അ�� ക�ാർ�റിൽ റിേ�ാ നിര�കൾ 10 േബസിസ് വർ�ി�ി�ാനാണ് നിർേ�ശം

        Correct Answer:- Option-B

Question19:-In the Constitution of India, promotion of international peace and
security is included in the
ഇ��ൻ ഭരണഘടനയിൽ അ�ാരാ� സമാധാന�ം �ര�ിതത��ം േ�ാ�ാഹി�ി��തിൽ
ഉൾെ���ിയി��്

        A:-Fundamental duties
അടി�ാന കടമകൾ

        B:-Ninth Schedule
ഒ�താം െഷഡ�ൾ

        C:-Preamble to the constitution
ഭരണഘടന�െട ആ�ഖം

        D:-Directive principles of state policy
സം�ാന നയ�ിെൻറ നിർേ�ശക തത��ൾ

        Correct Answer:- Option-D

Question20:-Which of the following bills must be passed by each House of the
Indian Parliament separately, by special majority?
താെഴ�റ��വയിൽ ഏതാണ് ഇ��ൻ പാർലെമ�ിെൻറ ഓേരാ സഭ�ം �േത�ക �രിപ�േ�ാെട  �േത�കം
പാ�ാേ��ത്?

        A:-Constitution amendment bill
ഭരണഘടനാ േഭദഗതി ബിൽ

        B:-Money bill
മണി ബിൽ

        C:-Ordinary bill
സാധാരണ ബിൽ

        D:-Finance bill
ധനകാര�ബിൽ

        Correct Answer:- Option-A

Question21:-The resolution for removing the Vice President of India can be moved
in the
ഇ��ൻ ഉപരാ�പതിെയ നീ�ം െച��തി�� �േമയം സഭയിൽ അവതരി�ി�ാം

        A:-Either House of the Indian Parliament
ഇ��ൻ പാർലിെമ�ിെൻറ െഹൗസിൽ ഒ�ിൽ

        B:-Lok Sabha alone



േലാകസഭ മാ�ം

        C:-Rajya Sabha alone
രാജ�സഭ മാ�ം

        D:-Joint sitting of Parliament
പാർെമ�ിെൻറ സം�� സേ�ളനം

        Correct Answer:- Option-C

Question22:-Who appoints the Chairman of Union Public Service Commission?
�ണിയൻ പ�ിക് സർ�ീസ് ക�ീഷെൻറ െചയർമാെന നിയമി��ത് ആരാണ്?

        A:-Vice President of India
ഇ��ൻ ഉപരാ�പതി

        B:-Chief Justice of India
ഇ��ൻ ചീഫ് ജ�ീസ്

        C:-President of India
ഇ��ൻ �സിഡ�്

        D:-Speaker of Lok Sabha
േലാകസഭാ �ീ�ർ

        Correct Answer:- Option-C

Question23:-All revenues received by the Union Government by way of taxes and
other receipts are credited to the
നി�തിക�ം മ� രസീ�ക�ം വഴി േക� ഗവെ��ിന് ലഭി�� എ�ാ വ�മാന�ം �ഡി�് െച�െ���

        A:-Consolidated fund of India
ഇ���െട ഏകീ�ത ഫ�്

        B:-Deposits and advances fund of India
ഇ���െട നിേ�പ�ം അഡ�ാൻസ് ഫ�ം

        C:-Public account
െപാ� അെ�ൗ�്

        D:-Contingency fund of India
ഇ���െട ആക�ിക ഫ�്

        Correct Answer:- Option-A

Question24:-Indian first food museum has been inaugurated by the Union Minister
Shri Piyush Goyal in
ഇ��യിെല ആദ�െ� ഭ�� മ�സിയം േക�മ�ി പി�ഷ് േഗായൽ ഉദ്ഘാടനം െച�

        A:-Panjab
പ�ാബ്

        B:-Tamil Nadu
തമി�ാട്

        C:-Kerala
േകരള

        D:-Gujarath
�ജറാ�്

        Correct Answer:- Option-B

Question25:-Article 20 of the Indian Constitution provides for protection in respect



of conviction of offences includes :
(a)  No person shall be convicted of any offence except for violation of a law in force
at the
       time of commission of the Act charged as an offence
(b)  No person shall be prosecuted and punished for the same offence more than
once
(c)  No person shall be arrested or detained in custody without producing him
before the
      nearest magistrate within a period of twenty -four hours of such arrest
(d)  No person accused of any offence shall be compelled to be witness against
himself
ഇ��ൻ ഭരണഘട�െട ആർ�ി�ിൾ 20 , ����െട ശി��മായി ബ�െ��് സംര�ണം നൽ��.
നിയമ�ിെൻറ ക�ീഷൻ സമയം ഒ� ��മായി �മ�ി
(a)  രാജ��് നിലവി�� ഒ� നിയമലംഘന�ിന�ാെത ഒ� വ��ി�ം ഒ�
       ���ി�ം ശി�ി�െ�ട�ത്
(b)  ഒേര ���ിന് ഒരാെള ഒ�ിേലെറ തവണ േ�ാസീക��് െച�ക�ം
      ശി�ി�ക�ം അ�ത്.
(c)  അറ�് നട�് ഇ�പ�ിനാ� മണി�റി��ിൽ ഏ��ം അ���
       മജിേ��ി� ��ിൽ ഹാജരാ�ാെത  ഒ� വ��ിെയ�ം അറ�് െച�കേയാ
      ക�ഡിയിൽ വ�കേയാ  െച��ത്.
(d)  ഏെത�ി�ം ��ം ആേരാപി�െ��� ഒ� വ��ി�ം തനിെ�തിെര 
      സാ�ിയാകാൻ നിർബ�ി��ത്

        A:-(a),  (b) and (d)
(a), (b), (d)

        B:-(a), (b), (c) and (d)
(a), (b), (c), (d)

        C:-(b), (c) and (d)
(b), (c), (d)

        D:-(a) and (d)
(a), (d)

        Correct Answer:- Option-A

Question26:-The Speaker of Lok Sabha can resign from his office before the
completion of his tenure by writing resignation addressing to whom
േലാകസഭാ �ീ�ർ�് തെൻറ കാലയളവിെല മ�ര�ി� ��് ആെര അഭിസംേബാധന െച�െകാ�്
രാജി��് എ�തി തെൻറ ഓഫീസിൽ നി�് രാജിവ�ാം?

        A:-President
�സിഡ�്

        B:-Chairman of Rajya Sabha
രാജ�സഭാ െചയർമാൻ

        C:-Prime Minister
�ധാനമ�ി

        D:-Deputy Speaker of Lok Sabha
േലാകസഭാ െഡപ��ി �ീ�ർ

        Correct Answer:- Option-D

Question27:-Which of the following rights come within the domain of Article 21 of



the Indian Constitution?
(a)  Right to Privacy
(b)  Right to Shelter
(c)  Right to Livelihood
(d)  Right to claim compensation
ഇ��ൻ ഭരണഘടന�െട ആർ�ി�ിൾ 21-െൻറ പരിധിയിൽ വ�� അവകാശ�ളിൽ ഏതാണ്?
(a)  സ�കാര�ത�� അവകാശം
(b)  പാർ�ിട�ി�� അവകാശം
(c)  ഉപജീവന�ി�� അവകാശം
(d)  ന�പരിഹാരം െച�ാ�� അവകാശം

        A:-(a), (b) and (c)
(a), (b), (c)

        B:-(a) and (b)
(a), (b)

        C:-(a), (c) and (d)
(a), (c), (d)

        D:-(a), (b), (c) and (d)
(a), (b), (c), (d)

        Correct Answer:- Option-D

Question28:-Among the following, one is not the Chairperson of the Kerala Women
Commission. Which one?
താെഴ�റ��വരിൽ ഒരാൾ േകരള വനിതാ ക�ീഷെൻറ  െചയർേപഴ്ൺ അ�.  ആരാണ് അവർ?

        A:-Sugatha Kumari
�ഗത�മാരി

        B:-Justice D Sreedevi
ജ�ീസ് ടി. �ീേദവി

        C:-Nafeesath Beevi
നഫീസ�് ബീവി

        D:-P. Satheedevi
പി. സതീേദവി

        Correct Answer:- Option-C

Question29:-Which of the following statement is/are correct about GST Council?
(i)   Article 279 A related to the creation of GST Council
(ii)  Union Finance Minister is the Chairman of GST Council
(iii) Chief Ministers are the members of GST Council
(iv) Chairperson, Central Board of Excise and Customs non permanent invitee of the
council
ജിഎ�ി െകൗൺസിൽ സംബ�ി�്  താെഴ�റ�� ��ാവനകളിൽ ഏതാണ് ശരി?
(i)   ജിഎ�ി െകൗൺസിൽ �പീകരി���മായി ബ�െ��താണ് ആർ�ി�ിൾ 279 A
(ii)  ജിഎ�ി െകൗൺസിലിെൻറ െചയർമാനാണ് േക� ധനകാര� മ�ി
(iii) �ഖ�മ�ിമാർ ജിഎ�ി െകൗണസിലിെൻറ അംഗ�ളാണ്
(iv)  െചയർേപ�ൺ, െസൻ�ൽ േബാർഡ് ഓഫ് എൈ�സ് ആൻഡ് ക�ംസ്
       െകൗൺസിലിെൻറ  �ിരം �ണിതാവ�

        A:-(i), (ii) are correct



(i), (ii) ശരിയാണ്

        B:-(i), (ii), (iv) are correct
(i), (ii), (iv) ശരിയാണ്

        C:-(i), (ii), (iii) are correct
(i), (ii), (iii) ശരിയാണ്

        D:-All are correct
എ�ാം ശരിയാണ്

        Correct Answer:- Option-A

Question30:-The Lifetime Achievement Award winner of the 27th edition of IFFK
IFFK 27-ാമത് എഡിഷനിെല ൈലഫ് ൈടം  അ�ീവ്െമ�് അവാർഡ് േജതാവ്

        A:-Firas Khoury
ഫിറാസ് െകൗരി

        B:-Bela Tarr
െബല താർ

        C:-Tayfun Pirselimoglu
ൈത�ൻ പിർെസലിെമാ�

        D:-Mammootty
മ��ി

        Correct Answer:- Option-B

Question31:-Among the following, which one is not correct?
താെഴ�റ��വയിൽ ശരിയ�ാ�ത് ഏത്?

        A:-Domestic Violence Act - 2005
ഗാർഹിക പീഢന നിയമം - 2005

        B:-Demonitisation - 2016
ഡീേമാണിൈ�േസഷൻ - 2016

        C:-GST Council - 2015
ജിഎ�ി െകൗൺസിൽ - 2015

        D:-First Bank Nationalization - 1969
ഫ�് ബാ�് നാഷണൈലേസഷൻ - 1969

        Correct Answer:- Option-C

Question32:-Among the following, what is/are the Constitutional bodies?
(i)   Central Vigilance Commission
(ii)  Election Commission
(iii) National Human Rights Commission
(iv) Finance Commission
താെഴ�റ��വയിൽ ഭരണഘടനാ�ാപന�ൾ ഏെതാെ�യാണ്?
(i)   േക� വിജിലൻസ് ക�ീഷൻ
(ii)   െതരെ��� ക�ീഷൻ
(iii)  േദശീയ മ�ഷ�ാവകാശ ക�ീഷൻ
(iv)  ധനകാര� ക�ീഷൻ



        A:-(i), (ii) and (iv)
(i), (ii), (iv)

        B:-(i), (iii) and (iv)
(i), (iii), (iv)

        C:-(ii) only
(ii) മാ�ം

        D:-(ii) and (iv)
(ii), (iv)

        Correct Answer:- Option-D

Question33:-Among the following, which are the two correct?
(i)   India after Gandhi - Ram Chandra Guha
(ii)  Turning Points - Droupadi Murmu
(iii) Development as Freedom - Amartya Sen
(iv) The Indian Constitution Cornerstone of a Nation - Dr. B.R. Ambedkar
താെഴ ത�വയിൽ ഏതാണ് ശരിയായ ര�് േജാഡി?
(i)   ഇ�� ആ�ർ - റാം ച� �ഹ
(ii)  േടണിംഗ് േപായി�്സ് - െ�ൗപദി �ർ�
(iii)  ഡവലപ്െമനറ് ആസ് �ീഡം - അമർത�ാെസൻ
(iv)  ഇ��ൻ േകാൺ�ി��ഷൻ േകാർണർ േ�ാൺ ഓഫ് എ േനഷൻ- േഡാ. അംേബദ്�ർ

        A:-(i), (ii)
(i), (ii)

        B:-(iii), (iv)
(iii), (iv)

        C:-(i), (iii)

        D:-(i), (iv)
(i), (iv)

        Correct Answer:- Option-C

Question34:-Myocardial infarction is due to
മേയാകാർഡിയൽ ഇൻഫാ�ന് കാരണം

        A:-Aneurysm
അ�റിസം

        B:-Arteriosclerosis
ആ�ീരിേയാെ�േറാസിസ്

        C:-Atheromatous plaques
അതേറാമാ�സ് �ാക�സ്

        D:-Coronary thrombosis
െകാേറാണറി േ�ാംേബാസിസ്

        Correct Answer:- Option-D

Question35:-Match List-I with List-II
                List-I                            List-II
(a)   Phylloquinone                 (i)  Scurvy
(b)   Ergocalciferol                 (ii)  Xerophthalmia
(c)   Ascorbic acid                 (iii)  Osteomalacial



(d)   Retinol                         (iv)  Hemorrhage
Choose the correct answer from the options given below :
ലി�്-I, ലി�്-II �മായി െപാ��െ���ക :

        ലി�്-I                                        ലി�്-II
(a)   ൈഫേലാക�ിൈനൻ              (i)   �ർ�ി
(b)   എർേഗാകാൽസിഫേറാൾ    (ii)   െസേറാ�ാൽമിയ
(c)   അേ�ാർബിക് ആസിഡ് (iii)   ഓ�ിേയാമേലസ�ൽ
(d)   െറ�ിേനാൾ                       (iv)   ഹിേമാേറജ്

        A:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

        B:-(a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

        C:-(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

        D:-(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

        Correct Answer:- Option-B

Question36:-Which of the following agent is/are cause STD?
(a)  Treponema pallidum
(b)  Bordetella pertussis
(c)  Shigella dysenteriae
(d)  Neisseria gonorrhoeae
Choose the correct answer from the options given below :
താെഴ�റ��വയിൽ ഏതാണ്എ�ിഡി�് കാരണമാ��ത്?
(a)  �ിേ�ാണിമ പാ�ിഡം
(b)  േബാർഡിെ�� െപർ�സിസ്
(c)   ഷിെഗ� ഡിെസൻ്റിരീയ
(d)   െനയ്േസറിയ െഗാേണാറി�
താെഴ ത� ഒപ്ഷ�കളിൽ നി�് ശരിയായ ഉ�രം െതരെ���ക

        A:-(a) and (d) only
(a), (d) മാ�ം

        B:-(a) and (c) only
(a), (c) മാ�ം

        C:-(b) and (d) only
(b), (d) മാ�ം

        D:-(b) and (c) only
(b), (c) മാ�ം

        Correct Answer:- Option-A

Question37:-Monascus purpureus produce
െമാണാ�സ് പർപ�റിയസ് ഉത്പാദി�ി��



        A:-Clot buster
േ�ാ�് ബ�ർ

        B:-Pectinase
െപ�ിേനസ്

        C:-Stains
െ�യിൻസ്

        D:-Cyclosporin A
ൈസേ�ാേ�ാറിൻ A

        Correct Answer:- Option-C

Question38:-Which of the following are true for Moon moving around Earth? Assume
that the system is isolated?
(i)   Sum of kinetic energy and gravitational potential energy is negative and
gravitational
      potential energy varies inversely as the distance of Moon from Earth
(ii)  Conservation of areal  velocity is a direct consequence of constancy of angular
      momentum
(iii)  Acceleration is inversely proportional to the distance between Moon and Earth
and is
       directed towards Earth
(iv)  Time rate of change of velocity of Moon is inversely related to the square of the
distance
       of Moon from Earth and is in the direction along the tangent to the orbit of
Moon
ച�ൻ �മിെയ ��ിസ�രി�� ഇനി�റ��വയിൽ ഏതാണ് ശരി? സി�ം ഒ�െ��താെണ�് ക��ക
(i)   ഗതിേകാർ��ിെൻറ�ം ��ത�ാകർഷണ സാധ�ത��  ഊർ��ിെൻറ�ം
      ആെക�ക െനഗ�ീവ്. ��ത�ാകർഷണമാണ് െപാ�ൻഷ�ൽ എനർജി �മിയിൽ
      നി�്ച�നിേല�� �രം േപാെല വിപരീതമായി വ�ത�ാസെ��ിരി��
(ii)   േകാണീയ ആ�ം �ിരത�െട അന�രഫലമാണ് ഏരിയൽ െവേലാസി�ി�െട
       സംര�ണം
(iii)   ത�രണം ച��ം �മി�ം ത�ി�� �ര�ിന് വിപരീത അ�പാതിക�ം
        �മിയിേല�് നയി���മാണ്
(iv)   ച�െൻറ �േവഗ�ിെൻറ മാ��ിെൻറ സമയനിര�് �മിയിൽ നി��     
        ച�െൻറ �ര�ിെൻറ വർ��മായി വിപരീതമായി ബ�െ��ിരി�� ഇത്
        ച�െൻറ �മണപഥ�ിേല�� ടാജ�ിെൻറ ദിശയിലാണ്

        A:-(i) & (iii)
(i), (iii)

        B:-(i) & (ii)
(i), (ii)

        C:-(ii) &  (iv)
(ii), (iv)

        D:-(ii) & (iii)
(ii), (iii)

        Correct Answer:- Option-B

Question39:-For a stone fired parallel to the ground from a height H with a velocity
u, which of the following are false?



(i)  Horizontal component of velocity varies directly as time
(ii) Vertical component of velocity varies directly as the square of time
(iii) Horizontal component is directly proportional to the square of time
(iv) Vertical component is constant in time
H ഉയര�ിൽ നി�് u േവഗതയിൽ നില�് സമാ�രമായി െവടി�തിർ� ക�ിന്, ഇനി�റ��വയിൽ
ഏതാണ് െത�്?
(i)   േവഗത�െട തിര�ീനഘടകം സമയ�ിന�സരി�് േനരി�് വ�ത�ാസെ���
(ii)  േവഗത�െട ലംബഘടകം സമയ�ിെൻറ വർ�ംേപാെല േനരി�് വ�ത�ാസെ���
(iii) തിര�ീനഘടകം സമയ�ിെൻറ വർ��ിന് േനരി�് ആ�പാതികമാണ്
(iv)  ലംബഘടകം സമയ�ിൽ �ിരമാണ്

        A:-Only (i) & (ii)
(i), (ii) മാ�ം

        B:-Only (i) & (iii)
(i), (iii) മാ�ം

        C:-(i), (ii) & (iii)
(i), (ii), (iii)

        D:-(i), (ii), (iii) & (iv)

        Correct Answer:- Option-D

Question40:-A thin bi-convex lens of focal length f and radius of curvature R is cut
into two equal halves by the plane perpendicular to the principal axis. The two
halves are then joined with their curved surfaces touching each other to form a
system to receive a parallel beam of light. The system is
േഫാ�ൽ െലങ്ത് f ഉം വ�ത  R േറഡിയ��� ഒ� േനർ� ൈബ-േകാൺെവ�് െലൻസ് �ധാന 
അ��ിന് ലംബമായി തലം െകാ�് ര� �ല� ഭാഗ�ളായി �റി��. ര� ഭാഗ��ം അവ�െട വള�
�തല�ൾ പര�രം �ർശി�് ഒ� സമാ�ര �കാശകിരണം സ�ീകരി��തി�� ഒ� സംവിധാനം
ഉ�ാ��. ഈ സംവിധാനം

        A:-of focal length f that converges light
�കാശെ� സംേയാജി�ി�� േഫാ�ൽ െലങ്ത് f

        B:-of focal length 2f that diverges light
�കാശെ� വ�തിചലി�ി�� േഫാ�ൽ െലങ്ത് 2f

        C:-of focal length f/2 that converge light
�കാശെ� സംേയാജി�ി�� േഫാ�ൽ െലങ്ത് f/2

        D:-of infinite focal length to pass light without deviation
വ�തിയാനം �ടാെത �കാശം കട�ിവിടാൻ അന�മായ േഫാ�ൽ �രം

        Correct Answer:- Option-A

Question41:-Regarding ISRO, which of the following are correct?
(i)   Gaganyaan programme is to undertake the demonstration of human spaceflight
to the
      Low Earth Orbit 
(ii)  Chandrayan-I launched in 2008 was meant for the scientific investigation of
Moon by      
      Spacecraft
(iii) UNAATI  is the initiative to offer training on the building of satellite to
international  
      participants
(iv) The mission accomplished on 26 November 2022 which has enhanced payloads



of ocean
      colour monitor and sea surface temperature monitor is PSLV-C54/EOS-06
ISO െയ സംബ�ി�് താെഴ�റ��വയിൽ ഏതാണ് ശരി?
(i)  േലാ എർ�് ഓർബി�ലിേല�� മ�ഷ� ബഹിരാകാശ യാ��െട �ദർശനം
     ഏെ����താണ് ഗഗൻയാൻ പരിപാടി
(ii)  2008 -ൽ വിേ�പി� ച�ായൻ - 1 ബഹിരാകാശ േപടകം  ഉപേയാഗി�്
      ച�െന�റി�� ശാ�ീയമായ അേന�ഷണ�ിന് ഉേ�ശി��താണ്
(iii)  അ�ാരാ� പ�ാളികൾ�് ഉപ�ഹ നിർ�ാണ�ിൽ പരിശീലനം നൽ��തി��
       സംരംഭമാണ് UNAATI
(iv)  ഓഷ�ൻ കളർ േമാണി�റിെൻറ�ം സ�േ�ാപരിതലതാപനില േമാണി�റിെൻറ�ം 
       െമ�െ���ിയ േപ  േലാ�കൾ 2022 നവംബർ  26-ന് �ർ�ിയാ�ിയ െദൗത�ം
      PSLV-C54/EOS-06 ആണ്

        A:-(i) and (ii) only
(i), (ii) മാ�ം

        B:-All the four (i), (ii), (iii) and (iv)
�കളിൽ പറ� നാ�ം ((i), (ii), (iii), (iv))

        C:-(ii) and (iii) only
(ii), (iii) മാ�ം

        D:-(iii) and (iv) only
(iii), (iv) മാ�ം

        Correct Answer:- Option-B

Question42:-Which of the following statements are correct regarding the allotropic
forms of carbon?
(1)  The bonding structure of Diamond is a three-dimensional structure while that of
graphite
       is hexagonal
(2)  Buckminsterfullerene is the C60 fullerene twelve hexagons and twenty
pentagons
(3)  Thermodynamically, Diamond is less stable compared to graphite
(4)  The crystal class of graphite is Dihexagonal pyramidal
കാർബണിെൻറം അേലാേ�ാപിക്  �പ�െള സംബ�ി�് താെഴ�റ�� ��ാവനകളിൽ ഏതാണ് ശരി?
(1)  ഡയമ�ിെൻറ േബാ�ിംഗ്  ഘടന ഒ� �ിമാനഘടനയാണ്, �ാൈഫ�ിേ�ത്
      ഷഡ്�ജാ�തിയാണ്
(2) ബ�്മിൻ�ർ��റീൻ എ�ത്  പ��് െഹ�േഗാ�ക�ം 20 െപ�ഗ�ക�ം
      ഉ� C60 ��റിനാണ്
(3)  താപഗതികമായി �ാൈഫ�ിെന അേപ�ി�് വ��ിന് �ിരത �റവാണ് 
(4)  �ാൈഫ�ിെൻറ �ി�ൽ �ാ�് ൈഡെഹ�ഗണൽ പിരമിഡൽ ആണ്

        A:-Both (1) and (2)
(1) ഉം (2) ഉം

        B:-Both (3) and (4)
(3) ഉം (4) ഉം



        C:-Both (2) and (3)
(2) ഉം (2) ഉം

        D:-Both (1) and (3)
(1) ഉം (3) ഉം

        Correct Answer:- Option-D

Question43:-The sequence of reactivity among interhalogen compounds is
ഇ�ർഹേലാജൻ സം���ൾ ത�ി�� �തി�വർ�ന�ിെൻറ �മം

        A:-ClF  <  BrF  <  IF   <  BrF
ClF  <  BrF  <  IF   <  BrF

        B:-ClF  <  IF   <  BrF   <  BrF
ClF  <  IF   <  BrF   <  BrF

        C:-BrF  <  IF   <  BrF   <  CIF
BrF  <  IF   <  BrF   <  CIF

        D:-BrF  <  ClF   <  IF   <  BrF
BrF  <  ClF   <  IF   <  BrF

        Correct Answer:- Option-A

Question44:-Among the oxoacids of chlorine, perhalic acid of chlorine is the
strongest acid. This may be due to
(i)  It has a weak conjugate base
(ii) The charge stabilization is maximum in its conjugate base
(iii) It has  the strong conjugate base
(iv) Its conjugate base has stronger attraction for hydrogen ion
േ�ാറിെൻറ ഓേ�ാആസി�കളിൽ െപർഹാലിക് ആഡിഡാണ് ഏററ�ം ശ�മായ
ആസിഡ്. ഇതിന് കാരണം
(i)  ഇതിന് �ർബലമായ അടി�റ��്
(ii)  ചാർ�് െ�ബിൈലേസഷൻ അതിെൻറ സംേയാജിത അടി�റയിൽ പരമാവധി ആണ്
(iii)  ഇതിന് ശ�മായ സംേയാജിത അടി�റ��്
(iv)  അതിെൻറ സംേയാജിത  അടി�റ�് ൈഹ�ജൻ അേയാണിന് ശ�മായ
       ആകർഷണ��്.

        A:-Both (ii) and (iii)
(ii) ഉം (iii) ഉം

        B:-Both (i) and (ii)
(i) ഉം (ii) ഉം

        C:-Both (iii) and (iv)



(iii) ഉം (iv) ഉം

        D:-Both (ii) and (iv)
(ii) ഉം (iv) ഉം

        Correct Answer:- Option-B

Question45:-Which of the following statements are associated with 2021 Nobel
prize in Chemistry?
(i)  It is for the development of asymmetric organocatalysis
(ii) It is awarded to Benjamin List and David W.C. MacMillan
(iii)  It is for the development of a method for genome editing
(iv)  It is awarded to Emmanuelle Charpentier and Jennifer A Doudna
2021 െല രസത��ി�� േനാബൽ സ�ാന�മായി ബ�െ�� ��ാവനകൾ താെഴ�റ��വയിൽ
ഏതാണ്?
(i)  ഇത് അസിെമ�ിക് ഓർഗാേനാകാ�ിൈലസിസ് വികസി�ി��തിനാണ്
(ii) ഇത് ബ�മിൻ ലി�ി�ം  േഡവിഡ് ഡ��. സി. മാ�ി��ം സ�ാനി�
(iii) ജിേനാം എഡി�ി�ി�� ഒ� രീതി വികസി�ി��തിനാണ് ഇത്
(iv)  ഇ�ാ�വൽ കാർെപ�ീ�ം െജനിഫർ എ െഡൗഡ്ന�ം ഇത് സ�ാനി�

        A:-(i) and (iv)
(i), (iv)

        B:-(i) and (ii)
(i), (ii)

        C:-(iii) and (iv)
(iii), (iv)

        D:-(ii) and (iii)
(ii), (iii)

        Correct Answer:- Option-B

Question46:-Ormakurippu is the book written by,
ഓർ��റി�് എ� ��ക�ിെൻറ രചയിതാവ്

        A:-Anand
ആന�്

        B:-Uroob
ഉ�ബ്

        C:-Muhammed Basheer
�ഹ�ദ് ബഷീർ

        D:-Kakkanadan
കാ�നാടൻ

        Correct Answer:- Option-C

Question47:-Kerala's Folklore Academy is situated at,
േകരള�ിെല േഫാക് േലാർ അ�ാദമി �ിതിെച��ത്

        A:-Aranattukara
അരനാ��ര

        B:-Nalanda
നള�

        C:-Chirakkal



ചിറ�ൽ

        D:-Chembukkavu
െച��ാവ്

        Correct Answer:- Option-C

Question48:-''There is just one castle and it is called humanity'' - Who propagated
this ideology?
''ഒ� േകാ�േയ ഉ� അതിെന മാനവികത എ� വിളി��'' ഈ ആശയം �ചരി�ി�ത് ആരാണ്?

        A:-Narayana Guru
നാരായണ��

        B:-Ayyappan
അ��ൻ

        C:-Chattambi Swamikal
ച��ി സ�ാമികൾ

        D:-Dr. Ayyathan
േഡാ. അ��ാൻ

        Correct Answer:- Option-A

Question49:-How many total players are there in Kho-Kho?
Kho-Kho യിൽ ആെക എ� കളി�ാ��്?

        A:-12
12

        B:-8
8

        C:-7
7

        D:-10
10

        Correct Answer:- Option-A

Question50:-Who among these was the only athlete that represented India at the
2022 Beijing Winter Olympics?
2022 -െല ബീജിംഗ് ഒളി�ി�ിൽ ഇ��െയ �തിനിധീകരി� ഏക കായികതാരം ആരാണ്?

        A:-Arif Khan
ആരിഫ്ഖാൻ

        B:-Neha Ahuja
േനഹ ആ�ജ

        C:-Kishore Ratna
കിേഷാർ ര�

        D:-Shailaja Kumar
ൈഷലജ �മാർ

        Correct Answer:- Option-A

Question51:-Which of the following is equivalent to 
താെഴ�റ��വയിൽ  ന് �ല�മായത് ഏത്?



        A:-

        B:-

        C:-

        D:-

        Correct Answer:- Option-B

Question52:-Amal scored 60% in an examination and Tinu scored 66%. The
difference of their score is 12. How much score did Tinu get?
ഒ� പരീ�യിൽ അമൽ 60% �ം  ടി� 66% േനടി.  അവ�െട േ�ാറിെൻറ വ�ത�ാസം 12. എ�ിൽ ടി�വിന്
എ� േ�ാർ ലഭി�?

        A:-132
132

        B:-120
120

        C:-200
200

        D:-188

        Correct Answer:- Option-A

Question53:-A 280 m long train travels at a speed of 60 km/hr. How long will it take
to pass a platform of 270 m?
280 മീ�ർ നീള�� ഒ� െ�യിൻ മണി�റിൽ  60 കിേലാമീ�ർ േവഗതയിൽ സ�രി��. 270 മീ�ർ നീള��
ഒ� �ാ�്േഫാം കട�േപാകാൻ എ� സമയെമ��ം?

        A:-30 sec.
30 െസ.

        B:-33 sec.
33 െസ.

        C:-16.2 sec.
16.2 െസ.

        D:-None of these
ഇവെയാ�മ�

        Correct Answer:- Option-B

Question54:-Which among the following is the smallest fraction?
താെഴത�വയിൽ ഏ��ം െചറിയ ഭി�സംഖ� ഏത്?

        A:-



        B:-

        C:-

        D:-

        Correct Answer:- Option-D

Question55:-Three numbers are in the ratio 3 : 5 : 7 and their average is  65. Find
the smallest number?
�� സംഖ�കൾ 3 : 5 : 7 എ� അ�പാത�ിലാണ്. അവ�െട ശരാശരി 65. എ�ിൽ എ��ം െചറിയ
സംഖ� ക�പിടി�ക

        A:-26
26

        B:-13
13

        C:-39
39

        D:-None of these
ഇവെയാ�മ�

        Correct Answer:- Option-C

Question56:-What day will be 61 days after today, if today is Monday?
ഇ�് തി�ളാ�യാെണ�ിൽ 61 ദിവസ�ിന് േശഷം ഏത് ദിവസമായിരി�ം?

        A:-Tuesday
െചാ�ാ�

        B:-Thursday
വ�ാഴാ�

        C:-Friday
െവ�ിയാ�

        D:-Saturday
ശനിയാ�

        Correct Answer:- Option-D

Question57:-1
2,     3
4,     5,     6
7,     8,     9,    10
--------------------
If the pattern is continuing like this, what is the sum of the last numbers in the 20th
and 21st row?
പാേ�ൺ ഇ�േപാെല �ട�കയാെണ�ിൽ 20-�ം 21-�ം വരിയിെല അവസാന സംഖ�ക�െട ആെക�ക
എ�യാണ്?



        A:-576
576

        B:-625
625

        C:-441
441

        D:-400
400

        Correct Answer:- Option-C

Question58:-Find the angle between the two hands of clock at 7:20
7:20-ന് േ�ാ�ിെൻറ ര�് ൈകകൾ�ിടയി�� േകാൺ ക�പിടി�ക

        A:-60°
60°

        B:-72°
72°

        C:-90°
90°

        D:-100°
100°

        Correct Answer:- Option-D

Question59:-If 26 = 4, 84 = 6, 73 = 5, then 75 =
26 = 4, 84 = 6, 73 = 5 ആയാൽ 75  =

        A:-6
6

        B:-9
9

        C:-5
5

        D:-4
4

        Correct Answer:- Option-A

Question60:-In a queue of students, Ramesh's position is 11th from the front and
17th from the back. How many students are there in the queue?
വിദ�ാർ�ിക�െട വരിയിൽ രേമഷിെൻറ �ാനം ��ിൽ നി�് 11-◌ാമ�ം പി�ിൽ നി�് 17-◌ാമ�മാണ്.
എ�ിൽ വരിയിൽ എ� വിദ�ാർ�ികൾ ഉ�്?

        A:-26
26

        B:-27
27



        C:-28
28

        D:-29
29

        Correct Answer:- Option-B

Question61:-Those are new designs. They differ -------------- the rest.

        A:-with

        B:-for

        C:-to

        D:-from

        Correct Answer:- Option-D

Question62:-I heard my neighbour ------------------.
Choose the correct infinitive

        A:-Singing

        B:-Sing

        C:-Sang

        D:-Song

        Correct Answer:- Option-B

Question63:-How would you respond if they ------------------- you the winner?

        A:-announced

        B:-announces

        C:-announce

        D:-doesn't announce

        Correct Answer:- Option-A

Question64:-The doctor, with his nurse, -------------- attended the patients.

        A:-has

        B:-was

        C:-will

        D:-have

        Correct Answer:- Option-A

Question65:-The writer says, ''My never failing friends are they''. Report the
statement.

        A:-The writer said that his friends were never failing

        B:-The Writer says that his friends never fail

        C:-The Writer says that his never failed friends were they

        D:-The Writer says that they are his never failing friends

        Correct Answer:- Option-D



Question66:-The opposite of very rich

        A:-prosperous

        B:-affluent

        C:-destitute

        D:-well-endowed

        Correct Answer:- Option-C

Question67:-Sometimes, I --------------- to my life in the village.

        A:-think back

        B:-come in

        C:-go out

        D:-hold on

        Correct Answer:- Option-A

Question68:-Aunt Polly always keeps a good table. It means Aunt Polly -------------

        A:-keeps the table neat and clean

        B:-provides luxurious food

        C:-sets the tableware well and good

        D:-decorates the table well

        Correct Answer:- Option-B

Question69:-They have planned to --------------- a wall

        A:-rise

        B:-race

        C:-rays

        D:-raise

        Correct Answer:- Option-D

Question70:-Change the word 'create' into a noun by selecting the appropriate
suffix from the given

        A:-−ion

        B:-−ve

        C:-−able

        D:-−ed

        Correct Answer:- Option-A

Question71:-താെഴ െകാ�� വാ�കളിൽ ശരിയായ �പേമത്?

        A:-യാ��ികം

        B:-യാ��ികം

        C:-യാ��ികം

        D:-യാ��ീകം



        Correct Answer:- Option-C

Question72:-താെഴ െകാ��തിൽ വ�ാകരണപരമായി െത�ായ വാക�ം ഏതാണ്?

        A:-�റി� െതാ�� ശതമാനം അ��ാപക�ം ആ�ാർ�ത��വരാണ്

        B:-െതാ�� ശതമാനം അ��ാപക�ം ആ�ാർ�ത��വരാണ്

        C:-�റിന് െതാ�റ് അ��ാപക�ം ആ�ാർ�ത��വരാണ്

        D:-��ശതമാനം അ��ാപക�ം ആ�ാർ�ത��വരാണ്

        Correct Answer:- Option-A

Question73:-താെഴ െകാ�� വാ�കളിൽ ച�ന�ിെൻറ പര�ായമ�ാ�ത് ഏത്?

        A:-മലയജം

        B:-മാേലയം

        C:-ഗ�സാരം

        D:-�ധാം�

        Correct Answer:- Option-D

Question74:-അധികം സംസാരി�� ആൾ എ�് അർ�ം കി�� വാ�് ഏത്?

        A:-വാ�ി

        B:-വാചാലൻ

        C:-��ഭാഷി

        D:-��ഭാഷി

        Correct Answer:- Option-B

Question75:-ആ�നാതനം എ� വാ�ിെൻറ വിരപീതപദം ഏത്?

        A:-ആ�നികം

        B:-സമകാലികം

        C:-�രാതനം

        D:-ഉ�രാ�നികം

        Correct Answer:- Option-C

Question76:-താെഴ െകാ�� വാക��ളിൽ മലയാളൈശലി�് ഏ��ം േയാജി� വാക�േമത്?

        A:-എ�ാ �ല�ം െകാടി േതാരണ�ൾ പാടി�

        B:-രാമെന ഒ� പാ� കടി�

        C:-അവ�െട ക�ിണകൾ പിട��ത് ഞാൻ ക�

        D:-പഠനകാര��ളിൽ ഓേരാ വിദ�ാർ�ിക�ം ��ിേ��താണ്

        Correct Answer:- Option-A

Question77:-ചാടി, �റെ�� എ�ീ വാ�കൾ േചർെ��തിയാൽ ശരി�പം ഏത്?

        A:-ചാടി�റെ��

        B:-ചാടി �റെ��

        C:-ചാടി�റെ��



        D:-(1)-ഉം (2)-ഉം (3)-ഉം ശരിയാണ്

        Correct Answer:- Option-C

Question78:-ത��ം എ� വാ�് പിരിെ��തിയാൽ

        A:-തത് + ത�ം

        B:-തദ് + ത�ം

        C:-ത + ��ം

        D:-തത് + ദ�ം

        Correct Answer:- Option-A

Question79:-താെഴ െകാ�� വാക��ളിൽ ശരിയായ വാക�േമത്?

        A:-�ഖ�മ�ിയിൽനി�ം ഉപഹാരം സ�ീകരി�

        B:-�ഖ�മ�ിയിൽ നി�ം ഉപഹരം സ�ീകരി�

        C:-�ഖ�മ�ിയിൽ നി�് ഉപഹാരം സ�ീകരി�

        D:-�ഖ�മ�ിയിൽനി�് ഉപഹാരം സ�ീകരി�

        Correct Answer:- Option-D

Question80:-താെഴ െകാ�� വാ�കളിൽ �ജാകാർഥം കാണി�ാ�ത് ഏത്?

        A:-സ�ാമിയാർ

        B:-ഹാജിയാർ

        C:-വാധ�ാർ

        D:-അധ�ാപകർ

        Correct Answer:- Option-D

Question81:-Random access memories in which data words are permanently
written during fabrication are known as
ഫാ�ിേ�ഷൻ സമയ�് ഡാ�ാ പദ�ൾ �ിരമായി എ�തെ��� റാൻഡം ആ�സ്  െമ�റികൾ
------------ എ�് അറിയെ���

        A:-RAM
RAM

        B:-ROM
ROM

        C:-Serial access memory
സീരിയൽ അസസ് െമ�റി

        D:-None of these
ഇവെയാ�മ�

        Correct Answer:- Option-B

Question82:-Which among the following is not an input device?
താെഴ ത�വയിൽ ഏതാണ് ഇൻ��് ഡിൈവസ് അ�ാ�ത്?

        A:-Joystick
േജായ്�ിക്

        B:-Scanner



�ാനർ

        C:-Plotter
േ�ാ�ർ

        D:-Mouse
െമൗസ്

        Correct Answer:- Option-C

Question83:-Choose the statement that describes super computers
��ർ ക����കെള വിവരി�� ��ാവന െതരെ���ക

        A:-Has the highest processing speed at a given time for solving scientific and
engineering problems
സയ്�ിഫിക് എ�ിനീയറിംഗ്  ���ൾ പരിഹരി��തിന് ഒ� നി�ിത സമയ�് ഏ��ം ഉയർ�
െ�ാസസിംഗ് േവഗത��്

        B:-They are designed to maximize numbers of floating point operations per
second
െസ��ിൽ േ�ാ�ിംഗ് േപായി�് �വർ�ന��െട എ�ം പരമാവധിയാ��തിനാണ് �പകൽ�ന
െച�ിരി��ത്

        C:-Its processing speed lies in range 400-10000MFLOPS
ഇതിെൻറ െ�ാസ�ി�് േവഗത 400-10000MFLOPS പരിധിയിലാണ്

        D:-All of these
ഇവെയ�ാം

        Correct Answer:- Option-D

Question84:-Identify the service of an operating system
ഒ� ഓ�േറ�ി�് സി��ിെൻറ േസവനം തിരി�റി�ക

        A:-Information management
ഇൻഫർേമഷൻ മാേനജ്െമനറ്

        B:-Process management
െ�ാസ�് മാേനജ്െമനറ്

        C:-Memory management
െമ�റി മാേനജ്െമനറ്

        D:-All of these
ഇവെയ�ാം

        Correct Answer:- Option-D

Question85:-What is true about EBCDIC code?
എ�ാണ് EBCDIC േകാഡ്?

        A:-It is a 7-bit alphanumeric code
ഇത് 7-ബി�് ആൽഫാന�മറിക് േകാഡ്

        B:-It is an 8-bit alphanumeric code
ഇത് 8-ബി�് ആൽഫാന�മറിക് േകാഡ്

        C:-It is a 16-bit alphanumeric code
ഇത് 16-ബി�് ആൽഫാന�മറിക് േകാഡ്

        D:-None of these
ഇവെയാ�മ�



        Correct Answer:- Option-B

Question86:-Which function key is used to open the help window in MS word
document?
MS Word േഡാക�െമ�ിൽ  െഹൽ�് വിൻേഡാ �റ�ാൻ ഏത് ഫം�്ഷൻ കീയാണ് ഉപേയാഗി��ത്?

        A:-F1
F1

        B:-F2
F2

        C:-F11

        D:-F12
F12

        Correct Answer:- Option-A

Question87:-Gutter Margin in MS word is
MS Word -ൽ ഗ�ർ മാർജിൻ എ�ത്

        A:-Margin added to the outside of the page when printing
അ�ടി�േ�ാൾ േപജിെൻറ �റ�് മാർജിൻ േചർ�

        B:-Margin added to the binding side of page when printing
അ�ടി�േ�ാൾ േപജിെൻറ ൈബൻഡി�് വശേ��് മാർജിൻ േചർ�

        C:-Margin added to right margin when printing
�ി�് െച�േ�ാൾ വലത് ഭാഗേ��് മാർജിൻ േചർ�

        D:-Margin added to the left margin when printing
�ി�് െച�േ�ാൾ ഇടത് ഭാഗേ��് മാർജിൻ േചർ�

        Correct Answer:- Option-B

Question88:-Which among the following is not a function in MS Excel?
MS Excel -ൽ �വർ�ി�ാ�ത് താെഴ�റ��വയിൽ ഏതാണ്?

        A:-AVG
AVG

        B:-MIN
MIN

        C:-MAX
MAX

        D:-SUM
SUM

        Correct Answer:- Option-A

Question89:-In which tab of MS Excel ''Print Titles'' option is available?
MS-Excel-െൻറ ഏത് ടാബിലാണ് ''�ി�് ൈട�ിൽസ്'' ഒപ്ഷൻ ലഭ�മാണ്?

        A:-Insert
ഇൻേസർ�്

        B:-Page layout
േപജ് െലഔ�്

        C:-View



വ�

        D:-Home
േഹാം

        Correct Answer:- Option-B

Question90:-Which among the following is not a type of view in MS-Power Point?
MS-Power Point-ൽ ഒ� തരം  വ� അ�ാ�ത് ഏത്?

        A:-Slide sorter
ൈ�ഡ് േസാർ�ർ

        B:-Notes page
േനാ�്സ് േപജ്

        C:-Slide master
ൈ�ഡ് മാ�ർ

        D:-None of these
ഇവെയാ�മ�

        Correct Answer:- Option-D

Question91:-Select the Object Oriented Programming feature referred to as an ''is-
a'' relationship
''is-a'' എ� വിളി�� ഒ��് ഓറിയ�ഡ് േ�ാ�ാമിംഗ് ഫീ�ർ െതരെ���ക

        A:-Polymorphism
േപാളിേമാർഫിസം

        B:-Data Abstraction
ഡാ�ാ അബ്�ാ�ൻ

        C:-Inheritance
ഇൻെഹറി�ൻസ്

        D:-Dynamic Binding
ൈഡനാമിക് ൈബൻഡിംഗ്

        Correct Answer:- Option-C

Question92:-Identify the valid statement in C++ to declare an array which stores
10 integers
10 �ർ�സംഖ�കൾ സംഭരി�� ഒ� array �ഖ�ാപി�ാൻ C++ സാ�വായ ��ാവന തിരി�റി�ക

        A:-int array[10];
int array[10];

        B:-int array(10);
int array(10);

        C:-int array();
int array();

        D:-int array[];
int array[];



        Correct Answer:- Option-A

Question93:-What is true about events in VB.NET?
VB.NET-െല ഇവ�കെള�റി�്  ഏതാണ് ശരി?

        A:-Events are triggered through user interaction
ഉപേയാ� ഇടെപടലി�െടയാണ് ഇവ�കൾ �ിഗർ െച��ത്

        B:-Events are triggered by an object
ഒ� വ�വാണ് ഇവ�കൾ �ിഗർ െച��ത്

        C:-Events are triggered by the operating system
ഇവ�കൾ �വർ�ന�മമാ��ത് ഓ�േറ�ിംഗ് സി�മാണ്

        D:-All of these
ഇവെയ�ാം

        Correct Answer:- Option-D

Question94:-Which among the following is not a data type in VB.NET?
താെഴ�റ��വയിൽ VB.NET - ൽ ഡാ�ാ  ൈട�് അ�ാ�ത്  ഏതാണ്?

        A:-Char
Char

        B:-Date
Date

        C:-Int
Int

        D:-String
String

        Correct Answer:- Option-C

Question95:-What is used to link two tables of database?
ഡാ�ാേബസിെൻറ ര� േടബി�കൾ ലി�് െച�ാൻ ഉപേയാഗി��ത്

        A:-Foreign key
േഫാറിൻ കീ

        B:-Primary key
ൈ�മറി കീ

        C:-Candidate key
കാൻഡിേഡ�് കീ

        D:-Super key
��ർ കീ

        Correct Answer:- Option-A

Question96:-Which among the following is not a DML command in SQL?
താെഴ�റ��വയിൽ ഏതാണ് SQL-ൽ DML കമാഡ് അ�ാ�ത്?

        A:-CREATE
CREATE

        B:-SELECT
SELECT



        C:-DELETE
DELETE

        D:-UPDATE
UPDATE

        Correct Answer:- Option-A

Question97:-Which among the following is not an aggregate function in SQL?
താെഴ�റ��വയിൽ ഏതാണ് SQL-ൽ അ�േഗ�് ഫംഗ്ഷൻ അ�ാ�ത്?

        A:-SUM
SUM

        B:-MIN
MIN

        C:-PDT
PDT

        D:-MAX
MAX

        Correct Answer:- Option-C

Question98:-Identify web browser among the following :
താെഴ�റ��വയിൽ െവബ് െ�ൗസർ തിരി�റി�ക

        A:-Google form
�ഗിൾ േഫാം

        B:-Microsoft edge
ൈമേ�ാേസാ�് എഡ്ജ്

        C:-DuckDuckGo
ഡ�്ഡ�്േഗാ

        D:-Internet Archive
ഇ�ർെന�് ആർൈ�വ്

        Correct Answer:- Option-B

Question99:-Select the HTML code to include hyperlink to the page
''www.google.com''
''www.google.com'' എ� േപജിേല�് ൈഹ�ർലി�് ഉൾെ���ാൻ HTML  േകാഡ് െതരെ���ക

        A:-<a type=''https://www.google.com''>Google</a>

        B:-None of these

        C:-<a src=''https://www.google.com''>Google</a>

        D:-<a href=''https://www.google.com''>Google</a>

        Correct Answer:- Option-D

Question100:-Which method in javascript opens a dialog window in which it
displays its string parameter, along with two buttons, OK and Cancel?
OK, Cancel  �ട�ിയ ര�് ബ��കേളാ��ടിയ �ിംഗ് പാരാമീ�ർ �ദർശി�ി�� ഒ� ഡയേലാഗ്
വിൻേഡാ �റ�ാൻ Javascript-ൽ ഉപേയാഗി��ത്

        A:-prompt



prompt

        B:-input
input

        C:-confirm
confirm

        D:-none of these
ഇവെയ�ാം

        Correct Answer:- Option-C


